

<b>Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)</b>								
<b>Owner: Oshkosh WI, City of</b>								
<b>Solicitor: Oshkosh WI, City of</b>								
<b>Bid Opening: 03/02/2026 11:00 AM CST</b>								
					<b>Vinton Construction Company</b>		<b>Northeast Asphalt, Inc.</b>	
					1322 33rd Street			
					Two Rivers, WI 54241			
<b>Section Title</b>	<b>Item Code</b>	<b>Item Description</b>	<b>UofM</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extension</b>	<b>Unit Price</b>	<b>Extension</b>
<b>Section 1</b>						<b>\$472,024.17</b>		<b>\$481,110.52</b>
	1050	Mobilization; complete as specified	Lump Sum	1.00	\$52,500.00	\$52,500.00	\$67,450.00	\$67,450.00
	1100	Removing pavement; complete as specified	Square Yards	14.00	\$25.00	\$350.00	\$25.00	\$350.00
	1110	Removing curb and gutter; complete as specified	Linear Feet	95.00	\$6.00	\$570.00	\$6.00	\$570.00
	1120	Removing concrete and asphalt sidewalk and driveway; complete as specified	Square Feet	2,980.00	\$1.00	\$2,980.00	\$1.00	\$2,980.00
	1200	Unclassified excavation; complete as specified	Cubic Yards	1,858.00	\$18.62	\$34,595.96	\$18.62	\$34,595.96
	1220	Excavation special (paving); complete as specified	Tons	280.00	\$0.01	\$2.80	\$0.01	\$2.80
	1309	7" concrete pavement HES removal and replacement; including sawing; pavement ties; dowel bars; bond breaker; integral curb and fine grading; turf restoration; and traffic control; complete as specified	Square Yards	20.00	\$135.00	\$2,700.00	\$153.23	\$3,064.60
	1350	Pavement ties; complete as specified	Each	13.00	\$10.00	\$130.00	\$10.00	\$130.00
	1360	Adjust manholes and inlets; complete as specified	Each	18.00	\$575.00	\$10,350.00	\$575.00	\$10,350.00
	1370	Turf restoration; complete as specified	Square Yards	1,220.00	\$8.00	\$9,760.00	\$6.75	\$8,235.00
	1380	Cold weather covering (concrete pavement) - single visquine; complete as specified	Square Yards	2.00	\$0.01	\$0.02	\$9.00	\$18.00
	1390	Up-charge for late season cold weather concrete pavement; complete as specified	Cubic Yards	0.50	\$0.01	\$0.01	\$20.00	\$10.00

<b>Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)</b>								
<b>Owner: Oshkosh WI, City of</b>								
<b>Solicitor: Oshkosh WI, City of</b>								
<b>Bid Opening: 03/02/2026 11:00 AM CST</b>								
					<b>Vinton Construction Company</b>		<b>Northeast Asphalt, Inc.</b>	
					<b>1322 33rd Street</b>			
					<b>Two Rivers, WI 54241</b>			
<b>Section Title</b>	<b>Item Code</b>	<b>Item Description</b>	<b>UofM</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extension</b>	<b>Unit Price</b>	<b>Extension</b>
	1410	12" radius curb with 6" CABC and grading; complete as specified	Linear Feet	50.00	\$33.00	\$1,650.00	\$26.00	\$1,300.00
	1440	30" curb and gutter; 7"; with 5" CABC and grading; complete as specified	Linear Feet	2,090.00	\$21.90	\$45,771.00	\$20.70	\$43,263.00
	1460	Sidewalk curb; complete as specified	Linear Feet	25.00	\$45.00	\$1,125.00	\$70.00	\$1,750.00
	1500	4" concrete sidewalk with 3" CABC and grading; complete as specified	Square Feet	220.00	\$10.50	\$2,310.00	\$9.50	\$2,090.00
	1510	6" concrete sidewalk/driveway/ramp with 3" CABC and grading; complete as specified	Square Feet	2,840.00	\$8.74	\$24,821.60	\$7.75	\$22,010.00
	1540	Curb ramp detectable warning field (natural/non-painted); complete as specified	Square Feet	30.00	\$35.00	\$1,050.00	\$40.00	\$1,200.00
	1560	Drilled No. 4 sidewalk tie bars - deformed; epoxy-coated; complete as specified	Each	12.00	\$8.00	\$96.00	\$10.00	\$120.00
	1580	Cold weather covering (sidewalk) - single visquine; complete as specified	Square Feet	300.00	\$0.01	\$3.00	\$1.00	\$300.00
	1582	Cold weather covering (sidewalk) - double visquine; complete as specified	Square Feet	300.00	\$0.01	\$3.00	\$1.00	\$300.00
	1590	Up-charge for late season cold weather concrete sidewalk; complete as specified	Cubic Yards	6.00	\$0.01	\$0.06	\$20.00	\$120.00
	1650	Locate existing property monuments; complete as specified	Each	9.00	\$150.00	\$1,350.00	\$150.00	\$1,350.00

Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)								
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of								
Bid Opening: 03/02/2026 11:00 AM CST								
					Vinton Construction Company		Northeast Asphalt, Inc.	
					1322 33rd Street			
					Two Rivers, WI 54241			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1652	Replace existing property monuments; complete as specified	Each	9.00	\$20.00	\$180.00	\$20.00	\$180.00
	1700	Sawing existing pavement; complete as specified	Linear Feet	30.00	\$5.00	\$150.00	\$2.35	\$70.50
	1710	Sawing concrete pavement full depth; complete as specified	Linear Feet	90.00	\$5.00	\$450.00	\$2.35	\$211.50
	1801	Base aggregate dense; 1-1/4"; complete as specified	Tons	1,075.00	\$13.00	\$13,975.00	\$13.00	\$13,975.00
	1802	Base aggregate dense; 3"; complete as specified	Tons	1,770.00	\$15.77	\$27,912.90	\$15.77	\$27,912.90
	1900	Tack coat; complete as specified	Gallons	305.00	\$3.18	\$969.90	\$3.15	\$960.75
	1901	HMA Pavement LT; complete as specified	Tons	1,090.00	\$81.66	\$89,009.40	\$80.85	\$88,126.50
	1903	HMA cold weather paving up-charge; complete as specified	Tons	162.00	\$0.01	\$1.62	\$3.30	\$534.60
	1960	Prepare foundation for asphaltic paving; complete as specified	Lump Sum	1.00	\$8,350.00	\$8,350.00	\$8,350.00	\$8,350.00
	2003	Furnish and install 12" storm sewer; complete as specified	Linear Feet	300.00	\$88.50	\$26,550.00	\$88.50	\$26,550.00
	2201	Furnish and install standard storm sewer manhole (4' diameter); complete as specified	Vertical Feet	2.75	\$1,280.00	\$3,520.00	\$1,280.00	\$3,520.00
	2213	Furnish and install standard storm sewer inlet manhole (4' diameter); complete as specified	Vertical Feet	18.50	\$1,228.00	\$22,718.00	\$1,228.00	\$22,718.00
	2235	Furnish and install Type 1 inlet (with 18" sump); complete as specified	Each	1.00	\$4,935.00	\$4,935.00	\$4,935.00	\$4,935.00

<b>Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)</b>								
<b>Owner: Oshkosh WI, City of</b>								
<b>Solicitor: Oshkosh WI, City of</b>								
<b>Bid Opening: 03/02/2026 11:00 AM CST</b>								
					<b>Vinton Construction Company</b>		<b>Northeast Asphalt, Inc.</b>	
					<b>1322 33rd Street</b>			
					<b>Two Rivers, WI 54241</b>			
<b>Section Title</b>	<b>Item Code</b>	<b>Item Description</b>	<b>UofM</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extension</b>	<b>Unit Price</b>	<b>Extension</b>
	2237	Furnish and install Type 3 inlet (with 18" sump); complete as specified	Each	8.00	\$3,644.00	\$29,152.00	\$3,644.00	\$29,152.00
	2246	Reconstruct 4' diameter storm sewer manhole; complete as specified	Vertical Feet	1.75	\$1,580.00	\$2,765.00	\$1,580.00	\$2,765.00
	2270	Reconstruct Type 3 inlet; complete as specified	Vertical Feet	1.25	\$1,957.50	\$2,446.88	\$1,957.50	\$2,446.88
	2508	Furnish; install; maintain; and remove Type D modified inlet protection; complete as specified	Each	30.00	\$80.00	\$2,400.00	\$75.00	\$2,250.00
	2510	Sediment removal - Type D modified inlet protection; complete as specified	Each	30.00	\$1.00	\$30.00	\$20.00	\$600.00
	2512	Furnish; install; maintain; and remove stone tracking pad; complete as specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
	2516	Furnish; install; maintain; and remove stone bag; complete as specified	Each	30.00	\$8.00	\$240.00	\$11.00	\$330.00
	2518	Furnish; install; maintain; and remove 12" diameter sediment logs; complete as specified	Linear Feet	50.00	\$10.00	\$500.00	\$6.25	\$312.50
	2524	Furnish; install; maintain; and remove dewatering tank system; complete as specified	Each	1.00	\$0.01	\$0.01	\$0.01	\$0.01
	2800	Abandon 8" - 12" storm sewer; complete as specified	Linear Feet	90.00	\$15.35	\$1,381.50	\$15.35	\$1,381.50
	2810	Abandon storm sewer manholes and inlets; complete as specified	Each	4.00	\$504.00	\$2,016.00	\$504.00	\$2,016.00
	2812	Remove storm sewer manholes and inlets; complete as specified	Each	1.00	\$357.00	\$357.00	\$357.00	\$357.00

<b>Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)</b>								
<b>Owner: Oshkosh WI, City of</b>								
<b>Solicitor: Oshkosh WI, City of</b>								
<b>Bid Opening: 03/02/2026 11:00 AM CST</b>								
					<b>Vinton Construction Company</b>		<b>Northeast Asphalt, Inc.</b>	
					<b>1322 33rd Street</b>			
					<b>Two Rivers, WI 54241</b>			
<b>Section Title</b>	<b>Item Code</b>	<b>Item Description</b>	<b>UofM</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extension</b>	<b>Unit Price</b>	<b>Extension</b>
	2850	Connect to existing storm sewer main; complete as specified	Each	12.00	\$750.00	\$9,000.00	\$750.00	\$9,000.00
	2852	Connect to existing storm sewer lateral; complete as specified	Each	3.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
	2856	Connect to existing storm sewer manhole; complete as specified	Each	1.00	\$562.00	\$562.00	\$562.00	\$562.00
	2858	Connect to existing storm sewer inlet; complete as specified	Each	1.00	\$568.00	\$568.00	\$568.00	\$568.00
	2914	Storm sewer utility line opening (ULO); complete as specified	Each	1.00	\$900.00	\$900.00	\$900.00	\$900.00
	2950	Excavation special (storm); complete as specified	Tons	25.00	\$20.00	\$500.00	\$20.00	\$500.00
	3000	Furnish and install 8" sanitary sewer (relay); complete as specified	Linear Feet	25.00	\$522.00	\$13,050.00	\$522.00	\$13,050.00
	3114	Furnish and install sanitary sewer external manhole chimney seal; complete as specified	Each	4.00	\$550.00	\$2,200.00	\$550.00	\$2,200.00
	3118	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit; complete as specified	Each	1.00	\$415.00	\$415.00	\$415.00	\$415.00
	3119	Furnish and install sanitary sewer internal sealing system flex seal utility sealant kit extension; complete as specified	Each	1.00	\$267.00	\$267.00	\$267.00	\$267.00
	3122	Reconstruct sanitary sewer manhole (4' diameter); complete as specified	Vertical Feet	3.25	\$1,074.00	\$3,490.50	\$1,074.00	\$3,490.50

<b>Contract 26-05 - West Linwood Avenue Asphalt Construction (#10051784)</b>								
<b>Owner: Oshkosh WI, City of</b>								
<b>Solicitor: Oshkosh WI, City of</b>								
<b>Bid Opening: 03/02/2026 11:00 AM CST</b>								
					<b>Vinton Construction Company</b>		<b>Northeast Asphalt, Inc.</b>	
					1322 33rd Street			
					Two Rivers, WI 54241			
<b>Section Title</b>	<b>Item Code</b>	<b>Item Description</b>	<b>UofM</b>	<b>Quantity</b>	<b>Unit Price</b>	<b>Extension</b>	<b>Unit Price</b>	<b>Extension</b>
	3210	Furnish and install 8" x 6" sanitary sewer factory wyes or tees; complete as specified	Each	1.00	\$675.00	\$675.00	\$675.00	\$675.00
	3234	Furnish and install 4"/6" sanitary sewer lateral (relay); complete as specified	Linear Feet	10.00	\$179.00	\$1,790.00	\$179.00	\$1,790.00
	3236	Furnish and install sanitary sewer lateral marker balls; complete as specified	Each	1.00	\$118.00	\$118.00	\$118.00	\$118.00
	3300	Furnish and install connection to existing 8" sanitary sewer mains; complete as specified	Each	4.00	\$915.00	\$3,660.00	\$915.00	\$3,660.00
	3700	Closed circuit televising; complete as specified	Linear Feet	25.00	\$48.00	\$1,200.00	\$48.00	\$1,200.00
<b>Bid Total:</b>						<b>\$472,024.17</b>		<b>\$481,110.52</b>